Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

ORIGINAL

Operator: License # 32109	API No. 15 - 205-25336-0000
Name: Dakota Production Co	County: Wilson
Address: 3708 Red Oak	\$2-\$\text{Sw-ne} Sec. 32 Twp.30 S. R. 17 ☐ East ☐ West
City/State/Zip: Corinth, Texas 76208	2970 feet from S/(N (circle one) Line of Section
Purchaser: ONEOK	1980feet from (E) W (circle one) Line of Section
Operator Contact Person: Doug Shay	Footages Calculated from Nearest Outside Section Corner:
Phone: () <u>567-0569</u>	(circle one) NE SE NW SW
Contractor: Name: McPherson Drilling	Lease Name: Marler Well #: 9
License: 5675	Field Name: Neodesha
Wellsite Geologist: Doug Shay	Producing Formation:
Designate Type of Completion:	Elevation: Ground: Kelly Bushing:
New Well Re-Entry Workover	Total Depth: 904 Plug Back Total Depth:
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 20 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? Yes No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from Surface
Operator:	feet depth to 201 w/ 5 sx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (J) KJR /2/14/01
Deepening Re-perfConv. to Enhr./SWD	
Plug Back Plug Back Total Depth	Chloride content ppm Fluid volume bbls
	Dewalering method used
Commingled Docket No Dual Completion Docket No 5	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator: Name:
Office (SAAD of Ellin.?) Docket No.	Lease Name: License No.:
12/7/00 12/8/00 3/09/01	Quarter 3 Sec Twp S. R
Spud Date or Date Reached TD Completion Date or Recompletion Date	
	County: Docket No.:
	52
INSTRUCTIONS: An original and two copies of this form shall be filed with t	·
Kansas 67202, within 120 days of the spud date, recompletion, workover information of side two of this form will be held confidential for a period of 12	
107 for confidentiality in excess of 12 months). One copy of all wireline logs a	
TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	
All requirements of the statutes, rules and regulations promulgated to regulate herein are samplete and correct to the best of my knowledge.	e the oil and gas industry have been fully complied with and the statements
Company and control to by bost of my mornings.	
Signature:	KCC Office Use ONLY
Title:	Letter of Confidentiality Attached
><1/1 T	If Denied, Yes Date:
Subscribed and sworn to before me this Oday of Odh	Wireline Log Received
76 <u>(60)</u>	Geologist Report Received
Notary Public: Xew Seden taxus	UIC Distribution
7-10-02 A TERRIBODE	NFARWELL
Date Commission Expires: Notary Public My Appt. Expires	State of Kandas
The state of the s	·

	kota Product				Marl Wilson	er	_ Well #:	9 *
Sec32 Twp3	0 s. a. 17	☐ East ☐ West	Cour	nty:	WIISON			
tested, time tool open temperature, fluid reco	ow important tops and to and closed, flowing and overy, and flow rates if g surveyed. Attach final	d shut-in pressures, gas to surface test, a	whether llong with	shut-in pre	ssure reached	d static level, hydro	static pressu	ires, bottom hole
Drill Stem Tests Taken		Yes No		L		tion (Top), Depth a	nd Datum	Sample
Samples Sent to Geole	ogical Survey	☐ Yes ☐ No		Nam	е		Тор	Datum
Cores Taken		Yes No						
Electric Log Run (Submit Copy)		_x¥Yes ☐ No						
List All E. Logs Run:								
		CASING I						
	Size Hole	Report all strings set-co					1	
Purpose of String	Drilled	Size Casing Set (In O.D.)		eight s. / Ft.	Setting Depth	Type of Cement	# Sacjs Used	Type and Percent Additives
Surface	11"	8 5/8	32#	#	20'	Portland	5	
Production	6 3/4	4 ½			860'	OWC	146	Bentonite
		ADDITIONAL	CEMENT	ING / SQU	EEZE RECOR	 D		
Purpose:	Depth Top Bottom	Type of Cement	#Sack	ks Used		Type and Pe	ercent Additive	s
	PERFORATION R	ECORD - Bridge Plugs	s Sat/Tun		A -:	Ob - 1 O		
Shots Per Foot		ge of Each Interval Perf				acture, Shot, Cement and Kind of Mat		Depth Depth
3.67	687-696							
4.13	798-816							
							-,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
,								
		· · · · · · · · · · · · · · · · · · ·						
TUBING RECORD	Size S	Set At	Packer	At	Liner Run		·····	
Date of First, Resumerd P	Production SWD or Est-	Producing \$45th				Yes No		
3/8/0		Producing Meth		□XF lowing	Pump	ing Gas Lift	Oth	er <i>(Explain)</i>
Estimated Production Per 24 Hours	Oil Bbls.	1	Mcf	Water	E	Bbls. Ga	as-Oil Ratio	Gravity
Disposition of Gas	METHOD OF COMP	15 LETION			Production Inte	rval		
☐ Vented Sold (II vented, Sumi	Used on Lease	Open Hole Other (Specify	⊠ Per	f. Du	ially Comp.	Commingled	7.1	. •

McPherson Drilling - Drillers Log

15-API NO.

\$. T. R. **LOCATION:** ORIGINAL

OPERATOR:

Dakota Production Co.

ADDRESS:

COUNTY:

3708 Red Oak Cornith, TX.. 76208

WELL NO.

LEASE NAME:

Marler

FOOTAGE LOCATION:

FROM THE ft.

South

LINE

FROM THE

LINE East

PRINCIPLE CONTRACTOR:

MCPHERSON DRILLING

3 Rig:

Wilson

SPUD DATE:

12/7/00

COMPLETED DATE:

12/8/00

TOTAL DEPTH:

904 ft.

GEOLOGIST:

6 3/4"

Doug Shay

CASING RECORD

SURFACE

PRODUCTION

COMMENTS:

SIZE HOLE:

11"

SIZE CASING:

Gas Tests:

8 5/8"

WEIGHT:

32#

695' 0 MCF 724' 7 MCF

SETTING DEPTH:

20' **Portland** 884' 7 MCF

664' 0 MCF

TYPE CEMENT: SACKS:

5

WELL LOG

FORMATION	TOP	воттом	FORMATION	TOP	BOTTOM	FORMATION	TOP	BOTTON
oil/clay	0	4	lam sand	825	854			
shale	4	37	sand (no sho)	854	876			
ime	37	39	brown lime	876	881			
shale	39	91	shale	881	904 TD			
ime	91	94		•				
shale	94	142						
ime	142	166	ř					
sand (wet)	166	190						
shale	190	305						
ime	305	361						
shale	361	525						
oil sand	525							
lam, sand	540	586						
pink lime	586							
shale	607							
osw. lime	660							
summit	686	695	•				•	
lime	695	707						
mulkey	707	714						
lime	714		•					
sandy shalw	719	802						
oil sand	802	806						
sand (no sho)	806	814						
shale	814							

Rick's Well Service

P.O. Box 268 129 Railroad Cherryvale, KS 67335

	R		G	N	A	L
J	8	ĕ		4 0	, ,	

Invoice

DATE	INVOICE#
1/15/'01	591

BILL TO	
Dakota Product Rt. 2 Box 255 Neodesha, KS	

SERVICED	DESCRIPTION	HOURS	RATE	AMOUNT
12/5/'00	Plumber W. well - Well Servicing - Run 2" tubing, pump and rods. Rig time	6	65.00	390.00T
12/6/'00	Plumber E. well - Well Servicing - Run 2" tubing,pump and rods. Rig time	6	65.00	390.00T
12/7/'00		5	65.00	325.00T
12/20/'00	Marler #9 - Run 4 1/2" casing. Rig time	2.5	65.00	162.50T
1	Stepenich #5 - Run 4 1/2" casing - Rig time	2.5	65.00	162.50T
1/3/'01	Stepenich #6 - Run 4 1/2" casing Rig time	2.5	65.00	162.50T
1/4/'01	Schultz #2 - Run 4 1/2" casing Rig time	2.5	65.00	162.50T
1/8/'01	Marler #9 - Cement 4 1/2" casing.		0.00	0.00T
	Pump charge		425.00	425.00T
	146 sacks cement	146	7.25	1,058.50T
	4 1/2" cement wiper plug		25.20	25.20T
	2 sacks of bentonite	2	10.00	20.00
	Water truck	2.5	50.00	125.00T
1/8/'01	Stepenich #5 - Cement 4 1/2" casing.		0.00	0.00T
	Pump charge		425.00	425.00T
· ·	158 sacks cement	158	7.25	1,145.50T
	4 1/2" cement wiper plug		25.20	25.20T
	2 sacks of bentonite	2	10.00	20.00
	Water truck	2.5	50.00	125.00T
1/9/'00	Schultz #2 - Cement 4 1/2" casing.		0.00	0.00T
	Pump charge		425.00	425.00T
	144 sacks cement	144	7.25	1,044.00T

MAKE CHECKS PAYABLE TO:
Rick's Well Service
THANK YOU! Page 1

Total